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( \ Sheet 2

- kDecomposition of Functions J

1) If g(x) = 3x% - 5 and f{x) = 9x* - 36x* + 35, find A(x) such that fix) = (% 0 2)(x).

i) 2x*+5x i) 5x*-3x i) 3x*+2 iv) x*-2x

2) If h(x) =63 and g(x) = 2x* - x + 8, identify f{x) such that A(x) = (g 0 f)(x).

i) 7 i) -5 i) 8 iv) -6

3) Ifg(x)=48x-8and/

) 4log, x°-6

www.mathworksheets4kids.com

i) f)=x’+4x-4; h(x)=8" iv) flo)=x>+4x+4; h(x)=8"

6) If h(x) =x+ 6, find f{x) and g(x) such that /(x) = (f o 2)(x).

) fr)=x+8; gx)=Vx’+6 i) f)=x*+13; gx)=x-7
i) ) =vx-7; gx)=x>+13 iv) f)=V’+6; gx)=x+8
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